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f(x) = x2 4x + 3

r&y

m(x,)  = 2x,  4 (3.1.3)

f’(x) = lim
f\X  - 0

f ( x  + AX)  f ( x )
AX

Fix,) = .bm-,  fix,  + “d”,’ - fh,).
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P’(x) = Ilm
ax -0

p(x  + 4 x)  P(x)

A X

= I'm-:, [-(x + [lx)'  + 140(x + AX) - 18751  - (-x2 + 140~ - 1875)
0 x s-5  x

Ijm
= i\ x -_ 0

-x2- 2x2~ (cx)'  + 140x  + 14OAx  - 1875 v x2 1 +Gx + 1875
..~ -.__-

AX

lim
i\ x - 0

-2x0x  (/Ax)2  + 140/2x-
CX

= ,L!” o (-2x &X + 140)

. . -2x+140 = 0

-2x = -140

X = 70

P(70)  = 3025 lJlYl
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Xl
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Xl

f(xi

Xl

f(x)

f(x)

Xl

x+2 81 xl -4
=

-x - 6 dl x > -4

= 1x-31, x1 = 3

I -1 61 xc0
=

I x-  1 ii1 x,0

= 0

{

X2 fh x 50
=

-X2 d-l x >o

= 0

di-7 K%x<l
= I (1 - XT dl x ,l

= 1

= m , x, = -1

5 - 6x dl x ( 3
z

,-4 x2 tYl  x>3
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(x + ax)” X”
A X

nxsio  (X + A~)" I mfl 1% Wq~~UflW?u~U  (binomial theorem) il:%

n(n 1)
f’(X) = Ai’”  OIX”+nx”‘ex+  -2! x”‘(&x)*  +..-+  nxLx)” ‘+  (6x)“]  - x ”

AX
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6x4y  - 21xy2  + 8

2(x +

2x+ 2y.2x+  2y+ (2x+ 2y+2x-2y)_d
2

4y + 4x2 4&

(4x - 4y31  dy
a;;

d (x4 + y4)= a;;
= 2 (x4) + &Y4)
= 4x3 + 4y

'2
= 4x3 + 4y"gY

= 4x3 + 4y"dx 2%

= 4x3 + 4y3g

= 4x3

= 4xB - 4y

d (x’+yj)  = .&(Q)

3x:+ 3y2g = 0

x2 + y'$ = 0

g= -$
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s -3 LI.
Y

‘s$3) (3.7.9)

7inwni7  ( 3 . 7 . 8 )  tii x = 1 5  ai  y = 2 0

trnwfii x - 15, y = 2 0 114 (3.7.9)

-3 (15)
g= T

- 4 5=
7x7

$PX -2o,,-3x  + 105)  = d ,o)
aT

$PXl-20  d$ - 3  Y$ + -!$105) = 0
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